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ERES 2EY L—R IG5 BAR
# 7 BT & AR 2 EO1% 2i8 3E B iy
#. FE5 ® @ ® @ ® ® @ [ & PO g E B HE £V HE FIE LAY
AR5 12 0 0 2 0 2 4 3 1 0/ 00 0.0 16.6 0|3.42 3.506 3.45 5.75 3.548
2509 (MN—H£%) 6 0 0 0 0 1 2 3 0 0 0.0 0.0 0.0 0 3.42 3.506 3.42 6.33 3.535
(ZOfth—H%) 6 0 0 2 0 1 2 0 1 0 0.0 0.0 33.3 0 3.44 3.529 3.47 5.16 3.562
nma 4 0 0 0 1 0 0 0 0.0 0.0 0.0/ 0| 3.40 3.500| 3.41 5.00 3.512
yEAR 258A RIS 12 3 0 0 0 1 2 5 0 250 250 25.0 0| 3.43 3.500 3.46 5.66 3.562
50% SRR 64 0 1 0 410 534 9 1 0.0 1.5 1.5 0| 3.39 3.497 3.45 6.47 3.564
LLB5 2. 0 0 1 1 312 0 4 O 0.0 0.0 4,7 0/ 3.39 3.503| 3.44 6.00 3.561
fix 70 410 9 8131312 1 O 5.7 20.0 32.8/ 0 3.35 3.432 3.41 4.54 3.506
2522 (MN—H#%) 48 3 8 5 5 9 11 7 0 0 6.2 22.9 33.3 0 3.35 3.432 3.39 4.45 3.487
(ZOAfth—H%) 22 1 2 4 3 4 2 5 1 0 4.5 13.6 31.8 0 3.39 3.494 3.45 4.72 3.548
na 19 1 4 4 0 2 5 1 2 0 5.2 26.3 47.3 0| 3.35 3.435 3.38 4.42 3.480
firtx 258A RIS 11 1 2 0 1 2 3 2 0 O 9.0 27.2 27.2| 0| 3.36 3.444| 3.39 4.63 3.487
517% SRAR 9 3 2 1 0 1 0 1 1 0 333 555 66.6 0| 3.37 3.434 3.38 3.33 3.490
L5 11 3 0 1 1 3 2 1 0 0| 272 272 36.3 0| 3.36 3.431 3.38 4.00 3.461
ARis 7 1. 0 0112 2 0 0 14.2 14.2 14.2 0| 3.33 3.452 3.35 5.14 3.480
3008 (MN—£%) 7 1 0 0 1 1 2 2 0 0 14.2 14.2 14.2 0 3.33 3.452 3.35 5.14 3.480
B-19 (MNG#)| -
(ZOMBE—HE)| -
nma 12 2 1 1 1 3 3 0 1 0| 16.6 250 33.3] 0 3.36 3.466| 3.41 4.33 3.503
{REAIE 308A FRERIE 79 10 10 10 7 1216 9 1 4 12.6 25.3 37.9 0| 3.32 3.419| 3.37 4.20 3.477
507% SRAR 10 1 2 0 1 2 3 1 0 0/ 10.0 30.0 30.00 0| 3.33 3.423 3.38 4.40 3.481
LLIB5 6 0 0 2 0 1 2 0 1 O 0.0 0.0 33.3] 0 3.37 3.471 3.40 5.16 3.517
ARz 10 3 0 0 3 0 1 0 3 0| 30.0 30.0 30.0 0 3.35 3.428 3.38 4.50 3.489
2804 (MN—£%) 4 2 0 0 1 0 1 0 0 0 50.0 50.0 50.0 0 3.35 3.428 3.36 3.00 3.445
A-109 (MNGH#)| -+
(%(Dﬂg—ﬁg)
‘N HER BXBEB 20 (ot 6 1 0 0 2 0 0 0 3 0 16.6 16.6 16.6/ 0/ 3.36  3.458/ 3.39 550  3.518
na 6 3 1 0 0 0 0 1 1 0| 50.0 66.6 66.6/ 0 3.33 3.420| 3.34 3.33 3.448
LLIF% 28HA FRERIE 9 2 1 1 2 0 0 1 0 2 222 333 44.4| 0| 3.32 3.425| 3.35 3.14 3.466
455% SRR 9 4 1 1 1 0 1 0 1 0 444 555 66.6/ 0 3.38 3.473 3.41 3.00 3.499
LLB5 65 8 16 8 4 8 10 6 4 1| 123 369 49.2| 0 3.30 3.403| 3.37 3.96 3.465
ARis 58 914 5 71010 1 1 1 15,5 39.6 48.2 0| 3.31 3.407| 3.38 3.59 3.472
1601 (MN—fi%) 32 7 7 2 4 7 5 0 0 0 21.8 43.7 50.0 0 3.31 3.407 3.36 3.37 3.451
(Db —H%) 19 2 4 1 3 2 5 1 0 1 10.5 31.5 36.8 0 3.35 3.438 3.41 4.00 3.510
5| BLU X8 20 (rofticH) 7 0 3 2 0 1 0 0 1 0 0.0 42.8 71.4| 0| 333  3.413| 3.38 3.57  3.473
na 16 1 2 4 2 2 1 3 1 0 6.2 18.7 43.7 0| 3.32 3.384| 3.36 4.37 3.441
ARt 168A FRERIG 18 2 2 2 2 4 1 3 1 1 11.1  22.2  33.3] 0| 3.33 3.431| 3.36 4.41 3.463
68 PEZYN
L5 26 2 8 5 5 2 0 0 7.6 384 57.6/ 0| 3.33 3.409| 3.36 3.30 3.458
ARz 57 13 9 9 7 6 7 6 0 0 228 38.5 54.3 0 3.30 3.383| 3.35 3.50 3.451
2822 (MN—fi%) 37 12 8 5 5 3 2 2 0 0 32.4 54.0 67.5 0 3.30 3.383 3.34 2.81 3.432
(ZDAh—H%) 11 1 1 1 0 3 2 3 0 0 9.0 18.1 27.2 0 3.34 3.428 3.41 4.90 3.510
E B 30 @oftc) 9 0 0 3 2 0 3 1 0 0 0.0 0.0 33.3) 0| 3.35 3408 3.36 4.66  3.458
na 0 1 2 3 1 1 1 0 O 0.0 11.1 33.3 0| 3.32 3.399| 3.34 4.22 3.430
frix 28HA ARG 8 0 1 0 2 4 1 0 0 O 0.0 12,5 12.5| 0| 3.33 3.420| 3.36 4.50 3.459
445% SRAR 10 2 1 1 2 1 0 0 3 0| 200 30.0 40.00 0 3.31 3.395 3.34 4.40 3.427
LLB5 23 8 3 5 2 1 3 1 0 0 347 47.8 69.5 0 3.30 3.363] 3.34 2.91 3.418
iz 44 10 13 7 4 3 5 1 1 0 22.7 52.2 68.1 0 3.29 3.383| 3.36 3.02 3.456
2931 (MN—fi%) 25 7 7 5 2 1 3 0 0 0 28.0 56.0 76.0 0 3.29 3.383 3.34 2.68 3.428
(DB —HR) 14 3 3 2 1 2 2 0 1 0 21.4 42.8 57.1 0 3.35 3.457 3.40 3.50 3.503
7 WO =% 30 @ofte®m)| s o 3 0 1 0 0 1 0 0 0.0 60.0 60.0/ 0| 3.30 3.399| 3.35 340  3.459
na 9 1.0 0 1 2 0 3 2 0 111 111 111 0| 3.34 3.429 3.39 5.77 3.473
frix 29HA ARG 13 5 0 5 0 0 0 1 O 2| 384 384 769 0 3.31 3.426/ 3.33 245 3.435
405% SRR 13 4 4 2 0 0 1 2 0 0/ 307 615 769 0| 3.31 3.399 3.34 292 3.436
LLB5 16 4 3 1 3 1 2 2 0 0| 250 437 50.00 0 3.29 3.358 3.33 3.50 3.423
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EBBS. 2E5>
# 0. BFE MR HiE # = 25 < 1 55 Ty
LERES ) B © @ ® @ ®& ® @ W Pop: S Xk EH HE LAY HE O OEE £V
AR 7 0 0 0012 310 0.0 0.0 0.0 O 6.57
2509 (MN—#%) 5 0 0 0 0 1 1 3 0 0 0.0 0.0 00 0 6.40
(ZOAh—A) 2 0 0 0 0 0O 1 0 1 O 0.0 0.0 00 0 7.00
1 H—rﬁl Ez 0 (ROAGE)| - . . o .
na
AL 25HA RIS
50i% PEZIN 12 1.1 0 2 2 5 1 0 O 8.3 16.6 16.6| O 4.83
LLIE% 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0 O 5.50
ARt 18 5 5 1 3 1 2 10 0 277 555 61.1 O 3.00
2522 MN—#) 13 3 4 1 3 0 1 1 0 0 23.0 53.8 61.5 0 3.00
(ZOAh—A%) 5 2 1 0 0 1 1 0 0 O 40.0 60.0 60.0/ © 3.00
nme 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
Arix 2588 FRERIG 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
51i% AL 4 0 1 0 1 1 0 1 0O 0.0 250 250 O 4.50
LB 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.00 O 2.00
Al
3008 (MN—#&)] ---
B-19 (MNGH#) |-
(ZDf—AR%)| -
ne 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
RE8IE 3053 R 9 0 1 3 0 3 2 0 0 0 0.0 111 444 0 4.22
507% PEZIN 2 1 1 0 0 0 0 0 0 O 50.0 100.0 100.00 O 1.50
LB 3 0 0 1 1 0 O O 1 O 0.0 0.0 33.3] O 5.00
Al 3 01 0020O0OUO0TDHO 0.0 333 333 O 4.00
2804 (MN—#g) |-
A-109 (MNGH#) |-
(ZOft—AE) |- Ce o :
‘N HER BXBEB 20 (ot 0o 1 0 0 2 0 0 o 0.0 333 333 0 4.00
ne 0 O 0 0.0 0.0 0.0/ O 7.00
1L1B% 2858 RIS
45i% R
LLIF5 22 1 2 2 3 5 1 6 1 1 4.5 13.6 22,7/ 0 4.95
AR 21 1 3 3 4 1 2 6 0 47 19.0 33.3 O 4.71
1601 (MN—#%) 14 0 3 3 2 1 2 3 0 0 0.0 21.4 428 0 4.35
(ZOM—A%) 30 0 0 2 0 0 1 0 O 0.0 0.0 00 0 5.00
5 B8l 20 ®ofte) 4 1 0 0 0 0 0 2 1 0 25.0 25.0 250/ 0 5.75
ne 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0 O 5.50
B 16HA FRELIE 2 0 0 1 0 1 0 0 0 O 0.0 0.0 50.0/ O 4.00
6877% R
LLIE5 5 0 2 0 2 1 0 O O O 0.0 40.0 40.00 O 3.40
AR 19 1 3 3 2 6 2110 52 21.0 36.8 0 4.26
2822 (MN—#%) 9 1t 0 2 1 3 1 1 0 0 11.1 11.1 333 0 4.33
(ZOM—H%) 7 0 2 1 1 3 0 0 0 O© 0.0 28.5 428 0 3.71
E ML 30 @ofte#®)| 3 0o 1 0 0 0 1 0 1 0 0.0 33.3 333 0 5.33
na 1 0 0 1 0 0 O O O O 0.0 0.0 100.00 O 3.00
BRix 28HA REAI 3.0 0 1 1 0 1 0 0 O 0.0 0.0 333 0 4.33
447% REZIN 1 0 0 1 0 0 O O O O 0.0 0.0 100.00 O 3.00
L5 4 0 1 1 0 1 1 0 O O 0.0 25.0 50.0/ O 4.00
AR 22 0 3 6 3 2 2 4 2 0 0.0 13.6 409 O 4.63
2931 (MN—#%) 12 0 1 5 1 0 2 3 0 0 0.0 8.3 50.0, 0 4.50
(ofti—#)| 4 0 1 1 1 0 0 1 0 O 0.0 25.0 50.0, 0 4.00
7 YHE = 30| (o)) 6 0 1 0 1 2 0 0 2 O 0.0 16.6 16.6| 0 5.33
na 2 1 0 0 0 0 1 0 0 O 50.0 50.0 50.0/ O 3.50
BRix 29HA REAI 1 0 0 0001 000 0.0 0.0 0.0/ 0 6.00
40i% REZIN 1 0 0 0 0 0 1 0 O O 0.0 0.0 0.0 O 6.00
LB 10 3 2 3 1 0 0 0 1 O 30.0 50.0 80.0/ O 2.80
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ERES. 2ESY L—RI5HI AR
B 9.8FA FE. 4 = 3 Ty
LERES ® @ @ ® ® ® @ B x xE @EH HE LY FHE BE LAY
AR 1 0 0 001 0O0O0TO 0.0 0.0 0.0 O 5.00
2509 (MN—f%) 1 0 0 0 0O 1 0 0 0 O 0.0 0.0 00/ 0 5.00
(ZOA—AT) |-
1 R EZ | 0| otewm) -
ma
AR 2584 REE
507% AR 5 0 0 0 0 11 3 0O 0.0 0.0 0.0 O 6.40
L5 2 0 0 0 0 1 0 0 1 O 0.0 0.0 0.0 O 6.50
AR 7 11 111020 0 142 285 428 0 4.14
2522 (MN—#) 4 0 0 1 1 1 0 1 0 O 0.0 0.0 250/ 0 4.75
(oft—#%)| 3 1 1 0 0 0 0O 1 0 O 33.3 66.6 66.6| 0 3.33
Y T IER o ceonom- e -
ERix 2558 REAIE 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
51m% SR 1 0 0 010 0O0UO0OTO 0 00 00 00 O 4.00
Al 1 0 0 001 0O0O0TO 0.0 0.0 0.0 O 5.00
3008 (MN—#%) 1 0 0 0 0O 1 0 0 0 O 0.0 0.0 00/ 0 5.00
B-19 (MNGH) -
(ZDAt—AT) |-
ne 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
RE8IE 3057 1RZRIE 2 0 0 1 00 0 10 0 00 00 500 O 5.00
507% R :
Al 1 0 0 00 OO 100 0.0 0.0 0.0 O 7.00
2804 (MN—EQ)
A-109 (MNGH)| -
'S HER BXBEB 20 ®ofte#%) 1 0o 0o 0 0 0 0 1 0 0 0.0 0.0 00/ 0 7.00
ne 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
LB 28HA REE
45i% R
L5 7 1 2 0 2 1 0 1 0 O 14.2 42.8 42.8/ 0 3.57
Ak 7 1 2 01 3 0 0 0 0 142 428 428 O 3.42
1601 (MN—f%) 1 0 0 0 0O 1 0 0 0 O 0.0 0.0 00/ © 5.00
A-129 (MNGH)| -
Zoft—#) 2 1 0 0 0 1 0 0 0 0 50.0 50.0 50.0, 0 3.00
5 B8l 20 ®ofte) 4 0o 2 0 1 1 0 0 0 0 0.0 50.0 500/ 0 3.25
nme
AR 1654 REE
L5 311 0 0 1 0 0 O O 33.3 66.6 66.6/ O 2.66
Ak 8 1.1 2 0 211 0 0 125 25.0 50.0 O 4.00
2822 (MN—#%) 3 1 1 1 0 0 0 0 0 O 33.3 66.6  100.0/ 0 2.00
Zoft—#) 2 0 0 1 0 0 0 1 0 0 0.0 0.0 50.0/ 0 5.00
E ML 30 @ofte®))| 3 0 0 0 0 2 1 0 0 0 0.0 0.0 00 0 5.33
ne 2 0 0 0 0 1 0 1 0 O 0.0 0.0 0.0 O 6.00
ARtz 28HA R 1 00 1 0O0O0OUOO 00 00 1000 O 3.00
4475% AR 1 0 0 0 0 0O O1 0O 0.0 0.0 0.0 O 7.00
L% 32 0 01 0 O O O O 66.6 66.6 66.6/ O 2.00
AR 11 1 2 1 11 2 3 0 0 9.0 272 363 0 4.54
2931 (MN—f%) 6 1 1 1 0 1 1 1 0 0 16.6 33.3 50.0, 0 4.00
Zoft—#%)| 1 0 0 0 0 0O 1 0 0 O 0.0 0.0 00/ 0 6.00
7 WA == 30| ®ofte®)) 4 0o 1 0 1 0 0 2 0 0 0.0 25.0 250/ 0 5.00
SR 29HA (BEMS .
40i% AR 3 0 2 1 0 O O O O O 0.0 66.6 100.00 O 2.33
LB 2 0 0 1 0 0 1 0 0 O 0.0 0.0 50.00 O 4.50

NEIEIRFEREBZERVTHE, FFICHEOFOFRITEFHEOESRANYT



